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Name: __________________________________



1
What is the sum of [image: image1.png]


 and [image: image2.png]


?

	1)
	[image: image3.png]5ia2





	2)
	[image: image4.png]412





	3)
	[image: image5.png]25





	4)
	[image: image6.png]6i







2
The sum of [image: image7.png]


 and [image: image8.png]


 is

	1)
	[image: image9.png]




	2)
	[image: image10.png]




	3)
	[image: image11.png]5103





	4)
	[image: image12.png]35







3
The sum of [image: image13.png]


 and [image: image14.png]


 is

	1)
	[image: image15.png]6i





	2)
	[image: image16.png]363





	3)
	[image: image17.png]




	4)
	[image: image18.png]9.2







4
The sum of [image: image19.png]


 and [image: image20.png]4.J-50



 is

	1)
	[image: image21.png]124/-58





	2)
	[image: image22.png]261402





	3)
	[image: image23.png]




	4)
	[image: image24.png]7102







5
The expression [image: image25.png]3aJ-18 + 54012



 is equivalent to

	1)
	[image: image26.png]9 J2 + 1083





	2)
	[image: image27.png]6102 + Tinf3





	3)
	[image: image28.png]19145





	4)
	[image: image29.png]~90./6







6
Express [image: image30.png]-2+ 18



 as a monomial in terms of i.

7
Express [image: image31.png]-8+ Af-18



 as a monomial in terms of i.

8
If [image: image32.png]f(x) = /3% + of12x



, express [image: image33.png]


 as a monomial in terms of i.

9
Express in terms of i the sum of [image: image34.png]=25 + 24036



.

10
Express the sum of [image: image35.png]=64 + 24016



 in terms of i.

11
Express the sum of [image: image36.png]


 and [image: image37.png]


 in terms of i.

12
Express the sum of [image: image38.png]


 and [image: image39.png]3./-25



 as a monomial in terms of i.

13
Express the sum of [image: image40.png]


 and [image: image41.png]


 as a monomial in terms of i.

14
Express [image: image42.png]J-27+ 712



 as a monomial in terms of i.

15
Express [image: image43.png]4nJ—49 4+ 3./-16



 as a monomial in terms of i.

16
Express the sum of [image: image44.png]4nf-12



 and [image: image45.png]3J-27



 in simplest radical form, in terms of i.

17
Express the sum of [image: image46.png]2./-49



 and [image: image47.png]


 as a monomial in terms of i.

18
Express the sum of [image: image48.png]


 and [image: image49.png]7./-64



 in simplest form in terms of i.

19
Express the sum of [image: image50.png]2.J-50



 and [image: image51.png]6ad—162



 as a monomial in terms of i.

20
Express [image: image52.png]—ZH%A o4



 as a monomial in terms of i.

21
Express [image: image53.png]48 354 25+ Af-27



 in simplest [image: image54.png]a + bi



 form.

22
What is the sum of [image: image55.png]


 and [image: image56.png]34+ Af-16



 expressed in [image: image57.png]a + bi



 form?

	1)
	[image: image58.png]—1+ 2i





	2)
	[image: image59.png]1414020





	3)
	[image: image60.png]—1+ 12§





	4)
	[image: image61.png]—14 +1i







23
Express the sum of [image: image62.png](2- ~f-4)



 and [image: image63.png](=3+ ~/-16)



 in [image: image64.png]a + bi



 form.

24
Express the sum of [image: image65.png]


 and [image: image66.png]24 Af-121



 in simplest [image: image67.png]a + bi



 form.


1
ANS:
2

[image: image68.png]2+N-18 =12 4312 =412




REF:
060215b

2
ANS:
3
REF:
088718siii

3
ANS:
4
REF:
068716siii

4
ANS:
2
REF:
069820siii

5
ANS:
1
REF:
060117siii

6
ANS:


[image: image69.png]412




REF:
060013siii

7
ANS:


[image: image70.png]5ia2




REF:
069003siii

8
ANS:


[image: image71.png]0




REF:
089701siii

9
ANS:


[image: image72.png]17




REF:
018416siii

10
ANS:


[image: image73.png]163




REF:
068402siii

11
ANS:


17i
REF:
089303siii

12
ANS:


[image: image74.png]24i




REF:
089501siii

13
ANS:


[image: image75.png]14;




REF:
069705siii

14
ANS:


[image: image76.png]17403




REF:
080207siii

15
ANS:


[image: image77.png]403




REF:
069502siii

16
ANS:


[image: image78.png]17403




REF:
011025b

17
ANS:


[image: image79.png]2i




REF:
019903siii

18
ANS:


62i
REF:
089903siii

19
ANS:


[image: image80.png]6412




REF:
010113siii

20
ANS:


i
REF:
010307siii

21
ANS:


[image: image81.png]2.5+ Tin3



.  [image: image82.png]NEAB 4354425+ C27 = 4in3+ 85+ 1385+ T3





REF:
080422b

22
ANS:
1

[image: image83.png](2- =9+ (-3+-16)

—2+-3+4i=-142




REF:
060401b

23
ANS:


[image: image84.png]—1+ 2i




REF:
019009siii

24
ANS:


[image: image85.png]5+ 18




REF:
010002siii


